= O
A & 0l & AF S E M A
2012 20l LB SRAILD ~ SRIAIS D
SN SXASD
M Lol o HAW B35
CHl: THOH- QI EOLE X (el 2
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol AFoH Ol Ak O BlusZ
S =) 95,784,708 92,953,340 2,831,368
= 57,943,116
p 260,688
Al 33,098, 151
24| 4,482,753
Lol g HAaH 8BS 32,255,329 35, 125,484 ~2,870, 155
= 21,502,662
p 34,313
AlH] 9,297, 152
24| 1,421,202
WOt QlMEory X 27,999,389 28,592,891 593,502
= 20,255,595
Al 6,743,794
=l 1,000,000
IECES X2 26,570,256 27,280,761 AT710,505
= 19,669,428
AlHI 5,900,828
=1 1,000,000
301 YprR AR 26,570,256 27,280,761 AT710,505
= 19,669,428
AlHI 5,900,828
24| 1,000,000
01 ASI 2 Z X263 26,570,256 27,280,761 AT710,505
OJE-Z2 X3 26,570,256,0002 26,570,256
= 19,669,428
AlH] 5,900,828
24| 1,000,000
FZAY 2234 195,052 154,000 41,052
AlHI 195,052
307 212401 & 195,052 154,000 41,052
AlHI 195,052
10 Bl = X2 X 195,052 154,000 41,052
OZ2AY 2234 195,052, 000! 195,052
AlHI 195,052
HAS IOl A A 196,000 156,000 40,000
Al 196,000
307 212+01 & 196,000 156,000 40,000
AlHI 196,000
10 AFBI = X2 X 196,000 156,000 40,000
OMAS TIHEQ AIAFHE  196,000,0008! 196,000
AlHI 196,000
2OIE L QIKICHXI 200,700 181,850 18,850
AlHI 200,700
301 YprE AR 200,700 181,850 18,850
Al 200,700




A SXALY L

HH: Lol Y AW 25
SRl Mot=oldEetd X (etel: =3
) _ . rSJE)es ~
SA-E . S(E) - MEAY - BES 01l &4 24 e {imE=Eh

01 MBI 2EH =052 200,700 181,850 18,850
OR9E LolNt X& 200,700,000& 200,700
AlHI 200,700

LolEs NMHIA 837,381 820,280 17,101
= 586, 167
AlHI 251,214

307 212+01 o 837,381 820,280 17,101
= 586,167
AlHI 251,214

10 ARSI 2 X 837,381 820,280 17,101
Oko=s MBIl 837,381,000 837,381
= 586,167
AlHI 251,214

ol Kotgs ¥ 1808 HE 2,482,790 2,137,125 345,665
= 885,350
AlHI 1,329,510
Tl 267,930

Lolna 2SI 19,200 19,200 0
AlHI 19,200

307 212+01 o 19,200 19,200 0
AlHI 19,200

10 At S X2 X 19,200 19,200 0
Okolua 24 X& 19,200,000& 19,200
AlHI 19,200

Colg el 1,770,700 1,433,450 337,250
= 885,350
AlHI 885,350

101 21 24| 8,100 8,100 0
= 4,050
AlHI 4,050

04 JIZtH22UHESES 8,100 8,100 0
O gXtelAry dgols 8,100, 000& 8,100
= 4,050
AlHI 4,050

201 L2 9,000 4,000 5,000
= 4,500
AlHI 4,500

01 AtR 22l 9,000 4,000 5,000
O gdXtelAry 2HZ | 9,000,000& 9,000
= 4,500
AlHI 4,500

301 LB A= 193,640 140,900 52,740
= 96,820
AlHI 96,820

01 Al 2EH =62 193,640 140,900 52,740
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L
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IR PNERCE
R =0 ootgs & UsJlE NS (el &
- _ - HE
SA BB SL(SIH) - NRAIY - A 0f - o e HRS2
Ol Xtel At 193,640,000& 193,640
= 96,820
Al 96,820
307 212to1 & 1,559,960 1,280,450 279,510
= 779,980
AlH] 779,980
10 A2l SR X 1,559,960 1,280,450 279,510
OolgXtel AFEXI& 1,5659,960,000& 1,559,960
= 779,980
Al 779,980
ANLIGEE 29 207,200 187,200 20,000
AlH] 177,200
THHI 30,000
307 g12+0l ™ 207,200 187,200 20,000
AlH] 177,200
Tl 30,000
10 A2l SR 2 X 207,200 187,200 20,000
OAILIGIZE 29 207,200,000 207,200
Al 177,200
Tl 30,000
dzd =29 399,750 391,100 8,650
AlH] 234,160
Tt 165,590
307 g12+0l ™ 399,750 391,100 8,650
Al 234,160
Tl 165,590
10 At S X2 £ 399,750 391,100 8,650
d=2g 29 N&E 399,750,000& 399,750
AlH] 234,160
THl 165,590
HE F2E A=E 6,200 6,120 80
AlH] 3,100
Tl 3,100
301 et A= 6,200 6,120 80
Al 3,100
T Hl 3,100
01 A2l 28 & =562 6,200 6,120 80
O=4HE d=z4 ?= 6,200,000 6,200
AlH] 3,100
Tl 3,100
FEE=3 T2 08 22X biX 21,000 19,800 1,200
AlH] 10,500
Tl 10,500
307 212+01 & 21,000 19,800 1,200
AlH] 10,500
Tl 10,500




SA: 2X A D
HH: Lol Y HAH 25
R =0 ootgs & UsJlE NS (98
i _ o e
SN -3H - S2A(2AH) - NRAY - BE= Off &F K Ol AF o8 Blusz
10 AlBl =X 2 X 21,000 19,800 1,200
OZ=zg=3 T2y Ze|Xt tixl
21,000,000 21,000
Al 10,500
2 10,500
zzg 22 33,300 29,810 3,490
201 YLt | 1,940 1,940 0
02 ZZ 2| 1,940 1,940 0
OF2Y BFNMRLS 150, 000! 23 300
OA2Y JIAHEAA 41,0002 *400H 4 1,640
301 YerE A3 6,360 6,370 A10
01 AFBI 2B =453 6,360 6,370 A10
Osy 22g 9 30,0002 *175JH & 5,250
Okolale 2¢ e 37,000 *3074 £ 1,110
401 Al2HI 2 S b 20,000 20,000 0
01 Al&H 20,000 20,000 0
OF2Y N2+ 20,000,000 20,000
405 XtaHE SH 5,000 1,500 3,500
01 MY S EH S| 5,000 1,500 3,500
oA2Y 28 5,000,0008! 5,000
Cogx s 25,440 50,445 A 25,005
203 PR 3,800 3,800 0
03 Al Z=A Q2 =AY 3,800 3,800 0
OeltM2g g42=a 800,000& 800
OAMdl=20tY SASEYE P2 xa
800,000 800
OABISXIAIE SAK 2t€b3l 1,200,0002 1,200
OSXAHA YREX 1,000,0008! 1,000
301 YerE A2 14,640 17,964 A3,324
01 AFBI 2R =453 12,000 12,000 0
OMAS oMU ALLER
1,000,000 * 122 12,000
09 ZU2RQALAS 2,640 5,964 A3,324
O dyEX 2,640
S| 5,0008! x22 x22 U * 122 2,640
401 Al2HI 2 S CHH| 7,000 0 7,000
01 Al&H 7,000 0 7,000
Okol=x sz SHlgXes 7,000,0008! 7,000
SLALE 2Y 1,257,478 1,310,278 A52,800
361,717
895,761




SN SXAL D
HH: Lol Y AW 25
SRl LOIAEAlY 2Y (25 &2
SN-EHH S (3H) - HEAY - BES O AF o8 gggﬁ Hnz2
COQUNL 2Y 174,960 174,960 0
At 174,960
307 21201 & 174,960 174,960 0
Altl 174,960
10 ALEI =X 2 X 174,960 174,960 0
OLQIAIM BAR SX4Y  174,960,0009! 174,960
Altl 174,960
COAEMAZOl KR 401,908 401,908 0
= 361,717
Altl 40,191
301 QLA 401,908 401,908 0
= 361,717
Al 40,191
NREEEEPSE 401,908 401,908 0
OLQIAIM A 4201 401,908,0009 401,908
= 361,717
Al 40,191
COQYAL STAR RS X 560,610 560,610 0
ALt 560,610
301 YerBA 3 560,610 560,610 0
ALt 560,610
01 MBI 2 HH 462 560,610 560,610 0
OLUEIIQYRE STAX Y2
560,610,0002 560,610
Al 560,610
WO XI AL 2| XIS 120,000 162,000 42,000
Al 120,000
307 21201 & 120,000 162,000 42,000
Altl 120,000
CEEEES 120,000 162,000 42,000
OTIH=QI=XIAIL (2)H2) 2% X2
120,000,000% 120,000
ALt 120,000
LOoI=X QITet &E 420,000 2,977,814 ~2,557,814
Al 298,500
2| 121,500
COEX 29 420,000 405,000 15,000
Al 298,500
2| 121,500
307 21201 & 420,000 405,000 15,000
Al 298,500
2| 121,500
LNEEEES 420,000 405,000 15,000
OLo=X2 2Y 420,000,000% 420,000




SAM: SXAE
HH: Lol Y AW 25
Crol: LOI=X QITmp) HE R
SA B G(E) - NEAY - B 0] & 08 e HREZ
AlHI 298,500
el 121,500
Fad =XNSH 95,672 107,376 211,704
Il 34,313
AlHI 29,587
-4l 31,772
HAUEESE 29 40,000 40,000 0
| 16,000
AlHI 12,000
el 12,000
201 ZEt2FH| 2,000 2,000 0
| 800
AlHI 600
-l 600
01 AR 2t eldl 2,000 2,000 0
O&EAYHE 2stE 2F 2,000,000& 2,000
| 800
AlHI 600
-l 600
307 21zZtol 38,000 38,000 0
J| 15,200
AlHI 11,400
-l 11,400
10 AlRISXIEX 38,000 38,000 0
OFAd 23&E 24 A& 38,000, 000& 38,000
Il 15,200
AlHI 11,400
el 11,400
FAadE Z2Y 2H 14,000 14,000 0
AlHI 7,000
-l 7,000
307 21zZtol ™ 14,000 14,000 0
AlHI 7,000
-l 7,000
10 At S X2 X 14,000 14,000 0
O&axdE Z2Y 23 & 14,000,000& 14,000
AlHI 7,000
el 7,000
F4aE s0t2l X 21,000 25,000 24,000
Il 8,400
AlHI 6,300
-4l 6,300
307 2IZtol 21,000 25,000 24,000
| 8,400
AlHI 6,300
-l 6,300
10 At S X2 X 21,000 25,000 24,000
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ool AW =XEA EEREED
. _ . e =
SM-EH . C(BH) - HRAY - B2 O] Ak 4 Sl ko HRs2
O&EA4E =0otel XN 21,000,000& 21,000
| 8,400
Al 6,300
-4l 6,300
SEXN2Ha FAEXA 14,200 11,800 2,400
| 9,913
Al 4,087
301 et ag 13,256 10,856 2,400
| 9,254
AlHI 4,002
01 Al 2EH 03 13,256 10,856 2,400
OSEXNANL BLAX 13,256, 0002 13,256
| 9,254
AlHI 4,002
307 21zZtol ™ 944 944 0
| 659
AlHI 285
10 At S X2 X 944 944 0
OSEXNUy Ead &g XA 944,000& 944
| 659
AlHI 285
dad B3 6,472 16,576 210,104
201 get2dd| 4,452 4,452 0
01 A2 2 2ldl 4,452 4,452 0
OHE%0l =ota M M 6203 5,000 3,100
OFAESE ¥ 3,200 *30& 123 1,152
OBAY HE 2HBE AH 200
=EE 502 +2, 0000 *23] 200
203 J =&l 500 500 0
03 AIZF= &R =8| 500 500 0
OFAY HEFAN 500,000& 500
301 Yo A3 1,520 1,520 0
10 HAIAHIE &3 1,120 1,120 0
OFAW NEd SHA ssors 24
7,000 *160H 1 1,120
12 J|Et2 43 400 400 0
OBAY SHYL A1 B4
100,000& 43| 400
oz X 14,421, 108 3,483,883 937,225
= 7,050,564
AlHI 7,038,253
24 332,291
HOHI SR & 8,238,728 8,236,917 1,811
=2 5,354,273
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SRS - HRAY - B2
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=1
(R
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ATH] 2,861,078
2| 23,377

BH4Y X 1,182,870 1,182,870 0
= 828,009
AlHI 354,861

301 YR AD 1,182,870 1,182,870 0
= 828,009
AlHI 354,861

SEEEE 1,182,870 1,182,870 0
SEEN= 1,182,870,0002 1,182,870
= 828,009
AlHI 354,861

ZONOl TE AL 413,820 426,390 A12,570
AlHI 413,820

301 YuHB A 413,820 426,390 A12,570
AlHI 413,820

01 ALEI B & X 413,820 426,390 A12,570
OFopel 413,820, 0002 413,820
AlHI 413,820

Zofol o 2H| N 353,649 353,649 0
=2 282,919
AlHI 70,730

301 LB A 353,649 353,649 0
=2 282,919
AlHI 70,730

01 Al B RS % 353,649 353,649 0
O=ofQl 353,649, 0002 353,649
= 282,919
AlHI 70,730

ZOHQ! XAl Xl 4,000 8,655 ~4,655
= 3,200
AlHI 800

301 YA 4,000 8,655 A4,655
=2 3,200
AlHI 800

01 AHEI B & 4,000 8,655 A4,655
O 04l X5t X2 4,000,000 4,000
= 3,200
AlHI 800

BOHQ S=CHY 9,980 9,780 200
= 4,990
AlHI 4,990

301 YA 9,980 9,780 200
= 4,990
AlHI 4,990




A SXALY L

By NS XK

el FojeI=N SE (el &2
_ _ SIEN
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o B2
01 MBI 2B X252 9,980 9,780 200
OFojel SSA 9,980,000% 9,980
2 4,990
Al 4,990
Dol WELEIIT X 16,004 10,922 5,082
2 12,805
2| 3,199
301 B A3 16,004 10,922 5,082
2 12,805
2| 3,199
NEEEEPSE 16,004 10,922 5,082
OROfe MELEEIIT X2 16,004, 0002 16,004
2 12,805
2| 3,199
ZojeI LRt X 231,063 111,559 119,504
= 15,531
Al 115,532
301 YBB A 231,063 111,559 119,504
= 115,531
Al 115,532
SREEEEPYE 231,063 111,559 119,504
Omoje =XYKL N 42, 108,0002! 42,108
2 21,054
Al 21,054
OZ0je 20| N 188,955, 00024 188,955
2 9,477
Al 94,478
Zojol 25 X 2,201,584 2,201,584 0
= 1,541,109
Al 660,475
307 21201 & 2,201,584 2,201,584 0
= 1,541,109
Al 660,475
05 QI2t9IEr2 2,201,584 2,201,584 0
OFojol 25 X2 2,201,584,0002 2,201,584
= 1,541,109
Al 660,475
HATOHOIS ABLHOIZ &N & 9,000 14,000 5,000
Al 9,000
301 BN 9,000 14,000 A5,000
Al 9,000
01 MBI 2 HE 462 9,000 14,000 A5,000
OBAFHOIS ABLHOIZ +2 X
9,000,000%! 9,000
Al 9,000




A SXALY L

By NS XK

Sl ZojoI=R ST (e @
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il i~ o Rz
RNl BE X (AlHI) 113,280 113,280 0
ALt 113,280
307 212H0| & 113,280 113,280 0
Al 113,280
05 I2teIEr 2 113,280 113,280 0
OOH AEIHS XY 113,280,0002 113,280
AlB| 113,280
ZOHOLS MEXE 387,600 387,600 0
= 271,320
Al 116,280
307 212H0| & 387,600 387,600 0
= 271,320
Alt| 116,280
05 BI2HeIEr 2 387,600 387,600 0
OBOHOIE MEX2 387,600,000 387,600
=2 271,320
ALt 116,280
BOHOIHS X 3,258,500 3,393,250 £ 134,750
= 2,280,950
Alt| 977,550
301 LB A3 3,258,500 3,393,250 ~134,750
= 2,280,950
Al 977,550
01 MBI 2 HH 462 3,258,500 3,393,250 £134,750
OBOHAAS X 3,258,500, 0002 3,258,500
=2 2,280,950
AlHI 977,550
IZ LA At 19,200 19,200 0
= 13,440
Al 5,760
307 £12H0| & 19,200 19,200 0
= 13,440
Al 5,760
05 BI2H9IEr 2 19,200 19,200 0
O LT At 19,200,000 19,200
=2 13,440
ALt 5,760
FHoz 25 4,178 4,178 0
201 L2 Y| 2,258 2,258 0
01 ALR 2l 2,258 2,258 0
OOHQ M QAR OHHHX FI
15,0008 %202 300
OZOHQ RSIEX K= 8002 «11Z5+2000H 1,760
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ool FOHQI=N B (el a2
_ _ _ Muo
SN FHH S (3H) - HREAY - BES Ofl Ak 04 Sl ko Hms2
SEEEIREEREEEINE
16,5002 ¥ 122 198
203 YR =&lH| 920 920 0
03 Al =X H 2 =&Y 920 920 0
OBONUSH L AESAK 243l
400,000 +23] 800
OR20l o - FAMASIAS 23
20,000& 6H *13l 120
301 B2 A= 1,000 1,000 0
12 DBt AL 1,000 1,000 0
OBAHMQ +31E% +g
100, 000& *2Al 2+*52] 1,000
ZoHelRiggel 2 XA 24,000 0 24,000
AlHI 18,000
el 6,000
307 2I2tol ™ 24,000 0 24,000
AlHI 18,000
-l 6,000
10 At =X X 24,000 0 24,000
OZOjUNAGO 22 Eela X &
24,000, 000& 24,000
AlHI 18,000
el 6,000
BOQIOIE 26 U YSTAS A 10,000 0 10,000
301 etz azg 10,000 0 10,000
01 At EE X bl = 10,000 0 10,000
OsttEA3 6,400,000& 6,400
O3S 3,600,000 3,600
HFOHCI=XIAIE XI& 1,203,859 965,519 238,340
AlHI 1,203,859
HoHel=X2 2SN 695, 162 669,499 25,663
Altl 695, 162
307 21201 & 695, 162 669,499 25,663
AlHl 695, 162
10 AEI S X2 E 695, 162 669,499 25,663
O =X& 23X 695, 162,000 695, 162
AlHl 695, 162
HOHel =2t ESAE 2E XA 63,460 60,340 3,120
AlHI 63,460
307 QI2tol A 63,460 60,340 3,120
AlHI 63,460
10 At =X E X 63,460 60,340 3,120

_11_




A SXALY L

By NS XK

el ZHASXAE X (etel: =3
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
OFe F=2UESAId 2F K&
63,460,000 63,460
AlHI 63,460
A SsHEINE 2 253,365 211,680 41,685
AlHI 253,365
307 212+01 o 253,365 211,680 41,685
AlHI 253,365
10 AFRI S X2 X 253,365 211,680 41,685
OFe s d&ird 28X
253,365,000& 253,365
AlHI 253,365
AGH B =EX2 == 23 42,100 20,000 22,100
AlHI 42,100
307 212+01 o 42,100 20,000 22,100
AlHI 42,100
10 At S X2 & 42,100 20,000 22,100
OAtot= oSl == 29
42,100,000& 42,100
AlHI 42,100
=i d23ls W 5,000 4,000 1,000
AlHI 5,000
307 212+01 A 5,000 4,000 1,000
AlHI 5,000
10 A2l S RI2X 5,000 4,000 1,000
=X EL3Jls H& 5,000,000 5,000
AlHI 5,000
ZOoHel MIOtsSXSAtHE 29 94,772 0 94,772
AlHI 94,772
307 212+01 ™ 94,772 0 94,772
AlHI 94,772
10 At S X2 X 94,772 0 94,772
OZoie! HItEXSAHE 22 94,772,000 94,772
AlHI 94,772
SSTMHY TEd2MEH XA 50,000 0 50,000
AlHI 50,000
307 21Ztol & 50,000 0 50,000
AlHI 50,000
10 MBI SXIEx 50,000 0 50,000
O3 HEgdsdy XI& 50,000,000& 50,000
AlHI 50,000
2o 25 ¥ & 870,862 854,260 16,602
= 568,799
AlHI 302,063
FHOANE 2E N 638,294 584,890 53,404
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ool 2ol 25 U N (el @)
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SA BB H(BH) - MBAY - B2 Ofl Ak 04 Gl o HRs2

2 442,806
ALt 193,488

307 212+0| H 638,294 584,890 53,404
2 444,806
AlHI 193,488

NEEREES 638,294 584,890 53,404
ORAANL 29H| N 628,294,000 628,294
= 439,806
AlbI 188,488
ORgAL Js2Y 10,000, 0002 10,000
= 5,000
AlBI 5,000

SEOIAL 2H(AHI) 94,798 106,600 A11,802
AlBI 94,798

307 212H0| | 94,798 106,600 A11,802
AlB| 94,798

10 Al =X 2 X 94,798 106,600 A11,802
ORUANL 2 94,798,000 94,798
ALt 94,798

S2oIAE MY X 137,770 137,770 0
2 123,993
AlHI 13,777

301 YR AD 137,770 137,770 0
2 123,993
AlbI 13,777

01 A & X 2513 137,770 137,770 0
OREIAL MYl X 137,770,000 137,770
2 123,993
AlB| 13,777

oses 4,107,659 3,369,448 738,211
2 1,127,492
AlHI 2,671,253
2| 308,914

IIESIE, AEAL AILOIE S22 N 39,000 35,755 3,245
AlHI 39,000

301 YA 39,000 35,755 3,245
AlB| 39,000

01 AEI BB X263 39,000 35,755 3,245

O ESIE, AEAH, ANLOIE HatS=2 X

2 39,000, 0002 39,000
ALt 39,000

YEE OFS2AKR 678,939 243,800 435,139
AlHI 509,204
2| 169,735

301 YEHB A 678,939 243,800 435,139
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AlHI 509,204
T4l 169,735
01 A2 EHE +=5l3 678,939 243,800 435,139
OogstsE Otsa4 678,939,000& 678,939
AlHI 509,204
-4l 169,735
H2ots SAX& 352,715 534,667 A 181,952
AlHI 264,536
T Hl 88,179
301 et 4 352,715 534,667 A 181,952
AlHI 264,536
T4l 88,179
01 Al 2EH 03 352,715 534,667 A 181,952
(@F=3= AR 352,715,000& 352,715
AlHI 264,536
-4l 88,179
E-352 Ots24X& 181,048 108,920 72,128
AlHI 181,048
301 et A 181,048 108,920 72,128
AlHI 181,048
01 At2IE2 & o= 181,048 108,920 72,128
O -3 ors= 181,048,000 181,048
AlHI 181,048
CEHAEREHH 300,000 300,000 0
= 300,000
101 212l 72,000 63,000 9,000
= 72,000
04 J|12tHI2 2 72,000 63,000 9,000
Ogl2t= orA 72,000,000& 72,000
= 72,000
201 et 160,240 170,840 A 10,600
= 160,240
01 AtR2tel 185,970 170,840 214,870
OEEARE T2 &
155,970,000& 185,970
= 185,970
22329 4,270 0 4,270
0332 4,270,000& 4,270
= 4,270
202 44l 8,760 8,160 600
= 8,760
01 =2 A bl 8,760 8,160 600
OESAEEWH A & 8,760,000& 8,760
= 8,760
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64,800

71,536




A SXALY L

By NS XK

ool OlSES (e @
. _ o ME T =
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il i~ o Rz

ATE] 40,901

301 YurB A3 136,336 64,800 71,536
= 95,435
ALt 40,901

01 AHSI B EE 4513 136,336 64,800 71,536
ootsZY XEHE N 136,336, 0002 136,336
=2 95,435
ALt 40,901

OIS =X MAHAISI R L X2IXIR) 153,600 148,320 5,280
= 107,520
ALt 46,080

307 212H0| & 153,600 148,320 5,280
= 107,520
ALt 46,080

NEEEES 153,600 148,320 5,280
OOtS=XI A 1211 XY 153,600,0008 153,600
=2 107,520
ALt 46,080

OISYSAIL RS20 48,997 49,511 A514
= 44,097
AlE| 4,900

301 YR A2 48,997 49,511 A514
= 44,097
ALt 4,900

01 AEI B E X 253 48,997 49,511 A514
OOISLZAIE REZ0 48,997,000 48,997
= 44,097
Alt| 4,900

OIS YSAIE MHZ0 152,336 165,404 £13,068
= 137,102
AlB| 15,234

301 YR A 152,336 165,404 A 13,068
= 137,102
ALt 15,234

01 AHEI B X 4503 152,336 165,404 ~13,068
OOtSLSAE MHZ0 152,336, 0002 152,336
= 137,102
Al 15,234

OISYSAL 29 870,403 801,532 68,871
ALt 870,403

307 212H0| H 870,403 801,532 68,871
ALt 870,403

10 Abal =X 2= 870,403 801,532 68,871
OOISYSAL 2% 870,403,00024 870,403
ALt 870,403
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SN

L HYNE N

X ZH
o=

SXIAS Bt

ool OlSES (e @e
_ _ _ Muo
SN FB - S2A(3) - MEAY - BES 0] & 08 i HRE2
2PS0ls 188 29 83,089 41,128 41,961
=2 33,235
Al 49,854
307 £12+0| & 83,089 41,128 41,91
=2 33,235
Al 49,854
10 AHBl =X 2 X 83,089 41,128 41,91
OISHEINIF(QSE)02AH L 2|
83,089, 0002 83,089
=2 33,235
Al 49,854
oo, JIHPIE O M2UXR X 900 1,890 £990
= 630
Al 270
301 LA 900 1,890 £990
= 630
Al 270
01 ALEIE RS 2513 900 1,890 £990
OYY, IHHE 0t 22 X
900,000%! 900
= 630
Al 270
YYots Y=+ XY 109,800 40,000 69,800
= 76,860
AlHI 32,940
301 Yt A2 109,800 40,000 69,800
= 76,860
Al 32,940
01 AFEI 2B = 2513 109,800 40,000 69,800
OYAOtS LS4+L X 109,800,000 109,800
=2 76,860
Al 32,940
SOl Q0tS YK+ X 2,100 2,100 0
Al 2,100
301 Yt A3 2,100 2,100 0
AlHI 2,100
01 AFEI 2 &S 2513 2,100 2,100 0
OE0IY A0t LKL & 2,100, 0002 2,100
Al 2,100
NSOt SHE 22X & 648,600 576,913 71,687
=2 302,400
Al 302,400
2| 43,800
307 £12H0| & 648,600 576,913 71,687
= 302,400
AlHI 302,400
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A SXALY L

By NS XK

& OtEsES (ctel: &
SA B HRA(SH) - MRAY - B 0] & 08 e HIREY
-l 43,800
10 AlRIS X2 648,600 576,913 71,687
OXN<gotsdy 29 XN 648,600,000 648,600
= 302,400
AlHI 302,400
-l 43,800
NEotsHE SAL HRMA X3 20,925 0 20,925
AlHI 20,925
307 2Iz2tol A 20,925 0 20,925
AlHI 20,925
10 At S X2 & 20,925 0 20,925
OXNYGOtsSHEHSAXR H2Me X
20,925,000& 20,925
AlHI 20,925
Ot &g XY0otsdlH K& 6,300 0 6,300
AlHI 6,300
307 QI2tol & 6,300 0 6,300
AlHI 6,300
10 At S X2 X 6,300 0 6,300
OOIEE XIS 0otsHE X2 6,300,000& 6,300
AlHI 6,300
Fus ssAHHA 23,400 0 23,400
= 11,700
AlHI 11,700
307 2120l & 23,400 0 23,400
= 11,700
AlHI 11,700
10 Al2IS X2 X 23,400 0 23,400
OglE SsMUIA(ERQEEHI)
23,400,000& 23,400
= 11,700
AlHI 11,700
ElA0ls AHEERS 22,000 4,000 18,000
AlHI 22,000
301 et a3z 22,000 4,000 18,000
AlHI 22,000
01 At EE X b3 22,000 4,000 18,000
OAN4d Eax0ls NEEEZ N3
22,000,000& 22,000
AlHI 22,000
ZOiots L2 XN 26,448 12,176 14,272
= 18,513
AlHI 7,935
301 et a3 26,448 12,176 14,272
= 18,513




SN

X{ ZH -
S = -

SXIAS Bt

Hors N

& OtEsES (ctel: &
. _ . e ~
SA B HRA(SH) - MRAY - B 0] & 08 e HIREY
AlHI 7,935
01 At EE X bl = 26,448 12,176 14,272
OHlots YLA=E K& 26,448,000& 26,448
= 18,513
AlHI 7,935
Ots=RXAY 22 4,200 4,200 0
201 et A | 4,200 4,200 0
01 AR 2t eld| 4,200 4,200 0
Ogls Ots=Ad M 200, 000& 200
ogss Ots=ad M 500, 000& »23| 1,000
O0elolg JIZ2dA 222 HE S
3,000,000& 3,000
el ol=0le 22| 3,000 4,500 21,500
401 A& HIZ 2 C0HYI 3,000 3,000 0
01 A& HI 3,000 3,000 0
OUE0I=0lE AlEE2 E=(1012A)
3,000,000& 3,000
2= 2 JIEX& 41,339,990 37,777,904 3,562,086
= 22,795,128
| 226,375
AlHI 15,872,999
7 -l 2,445,488
Hd=EX 2,363,677 2,124,416 239,261
= 928,316
| 226,375
AlHI 1,116,366
-l 92,620
AZNEXNJEH 23 172,200 164,000 8,200
= 86,100
AlHI 43,050
-l 43,050
307 21zZtol ™ 172,200 164,000 8,200
= 86,100
AlHI 43,050
el 43,050
10 AlRIS X2 =X 172,200 164,000 8,200
OAHZNEXNNEAMEYH 2 N& 172,200,000 172,200
= 86,100
AlHI 43,050
4l 43,050
rEAddst X 343,000 270,560 72,440
= 171,500
AlHI 171,500
307 21zZtol ™ 343,000 270,560 72,440
= 171,500

_19_




S ST AR D
ol 28 2 JIFX
Sl oA =R (e @
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
ATE] 171,500
10 Absl =X 2 343,000 270,560 72,440
OFANEAAS N 143,000,0002 143,000
= 71,500
Al 71,500
OXgIisssnz 1Y 200,000,00024 200,000
= 100,000
Al 100,000
OIS 20 X 888,796 819,740 69,056
=2 622,157
AlHI 266,639
307 212H0| & 838,796 819,740 69,056
= 622,157
ALt 266,639
10 A8l =X 2= 888,796 819,740 69,056
OOl0IE 20| X 888,796,00024 888,796
= 622,157
Al 266,639
IIEEL0 2HS N 20,000 0 20,000
=2 14,000
AlHI 6,000
307 212H0| & 20,000 0 20,000
=2 14,000
ALt 6,000
INEEEES 20,000 0 20,000
OJ=ZE0l 243 N 20,000,0002 20,000
= 14,000
Al 6,000
C2aENAME 29 82,000 0 82,000
| 57,400
Al 24,600
307 212H0| & 82,000 0 82,000
| 57,400
AlHI 24,600
INEESEES 82,000 0 82,000
OLI2SNENAME2Y 82,000,0002 82,000
o] 57,400
ALt 24,600
IIEE . MEYX L NHK K 61,918 59,606 2,312
= 30,959
Al 30,959
307 212H0| & 61,918 59,606 2,312
=2 30,959
AlHI 30,959
MREENEES 61,918 59,606 2,312
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SN
X XH .
S Tt

ok

3=t
S 9 IIEKE
SEW ol A 2
. . - Hag —
M+ B - el (31) HeS arey i =
OAtSH Dt EZaagA
61,918,000 61,918
= 30,959
At 30,959
o MFESAGA BAX ZXSY(AlL) 3,600 1,800 1,800
Al 3,600
307 2I2+0| & 3,600 1,800 1,800
AlHI 3,600
10 Bl =X 2 = 3,600 1,800 1,800
OAtSH Dt EZe a4 3,600,0008! 3,600
Al 3,600
A RIR2 540,000 500,000 40,000
Al 494,000
=g 46,000
301 YprR AR 540,000 500,000 40,000
Al 494,000
=1 46,000
01 AHSI BB =263 540,000 500,000 40,000
OEMXAZ 540,000,000 540,000
Al 494,000
24| 46,000
SOHEES NIl 29 7,200 7,200 0
= 3,600
Al 3,600
201 Yt | 7,200 7,200 0
= 3,600
Al 3,600
01 AtR 22l H| 7,200 7,200 0
OOlS.0i885 XAt 29 7,200,000 7,200
= 3,600
Al 3,600
231= X 241,393 297,960 56,567
p 168,975
Al 72,418
307 QI2+0| & 241,393 297,960 56,567
p 168,975
Al 72,418
10 ASl =X 2% 241,393 297,960 56,567
OUIR23tE wens 198,610,0008! 198,610
p 139,027
Al 59,583
OZEO0IUX S - Y 13,363,0002 13,363
p 9,354
Al 4,009
OLI2BIE R 210f 29,420,000%! 29,420
p 20,594
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A SXALG B
M 9 U IIFEX
cel: ddg=X (Sl
. _ = A C
SN -3 S2ARAH) - MFAY - BES O &F 4 Ol & o8 Hlus2
| AlH] 8,826
He=x s 3,570 3,550 20
201 L2 1,110 1,190 ~80
01 At 22l 1,110 1,190 80
OEMTHANY E2S 900
EZE NH 300,000 *33] 900
Oolg et A2 210
Rl =S DS ES 70,0002 *374 210
203 JR =N 1,680 1,680 0
03 AIH = AR 1,680 1,680 0
OREINAISAEE 2< 10,000 *40% 400
OO =& (Ml A 2 & X&)
1,280,000 1,280
301 detEa3 780 680 100
10 #AtAHI B A3 780 680 100
OWMZEI AR 100,0008 3% 300
oolgs2ns &4 120,000& *2% *23 480
SRR Ity =X 54 1,028,203 1,550,730 N522,527
= 401,501
Al 626,702
DRESAE HASH XA 80,578 55,400 25,178
= 72,520
Al 8,058
301 et A 80,578 55,400 25,178
2 72,520
Al 8,058
01 ABI2Z =263 80,578 55,400 25,178
O2NUESAE HHS0 80,578,000 80,578
= 72,520
Al 8,058
SUESAE BI20 6,388 6.482 ~94
= 5,749
Al 639
301 et A 6,388 6,482 N4
= 5,749
Al 639
01 AtSI2 &= 2613 6,388 6,482 N4
O2UEsAE NE30 6,388,000 6,388
= 5,749
Al 639
DUBSAE 29 238,978 230,833 8,145
Al 238,978
307 2120 & 238,978 230,833 8,145
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SN SXASD
MM 28 U JIFX
o9l BEQ IR =X =X (erel:®e)
_ _ _ N E
SN FB - S2A(3) - MEAY - BES 0] & 08 e HRE2
Al 238,978
10 AFBI = X2 X 238,978 230,833 8,145
OAMZARE @128l X 171,048,000 171,048
Al 171,048
Ozeleg| 54,930,000 54,930
Al 54,930
OXNA=N+Y 12,000,0002 12,000
Al 12,000
OAl & Lyl 1,000,0002! 1,000
Al 1,000
BUHESAE BSE 2FH L 2AH Y 1,000 455 545
Al 1,000
301 YBBAZ 1,000 455 545
Al 1,000
01 IS 2= 4512 1,000 455 545
OZXNESAL FSS =Y L 2AH U
,000,0008! 1,000
Al 1,000
SUHESAE LAX A X 4,000 2,100 1,900
Al 4,000
301 AP BAS 4,000 2,100 1,900
Al 4,000
01 MBI 2 X 2613 4,000 2,100 1,900
OSXESAIL AAR 2HAH| XIE
4,000,000 4,000
Al 4,000
DUNEBAE AT HHEHZ X 4,000 10,000 16,000
AlH] 4,000
301 Ypr2 AR 4,000 10,000 6,000
Al 4,000
01 A2 H X263 4,000 10,000 6,000
ORNEBAM EAT N2 XY
4,000,000 4,000
Al 4,000
BROIIE 2XAA XY 9,548 0 9,548
= 4,774
Al 4,774
307 212+01 & 9,548 0 9,548
= 4,774
Al 4,774
10 AHBI = X2 X 9,548 0 9,548
OYLX HEXE N 9,548,000} 9,548
= 4,774
Al 4,774
BROIIEX 2SH S X 376, 133 882,865 £506,732
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S =XA D
Hu: 28 Y JHYXE
Col BRE N =X EX (Etel: & e
SN SA(BA) - MPAY - BES 0] & o4 e HRE2
= 300,906
AlH] 75,227
301 YA 376,133 882,865 508,732
= 300,906
AlH] 75,227
01 ALSI 2 &= 4513 376,133 882,865 150,732
OBIE2IE Xt %=H S X
376, 133,000 376,133
= 300,906
AlH] 75,227
BEDIE X N 284,138 253,952 30, 186
AlH] 284,138
301 YBtEAS 284,138 253,952 30, 186
AlH] 284,138
NINEEEERTE 284,138 253,952 30, 186
O nst| 264,033,000 264,038
AlHI 264,038
OXSs4 stg=H| 20,100, 00084 20,100
AlH] 20,100
SRS FHAL 1,500 4,300 £2,800
AlH] 1,500
301 LerE A 1,500 1,100 400
AlH] 1,500
01 ALSI 2 &= 4513 1,500 1,100 400
OSXIHE FHAH 1,500,0002 1,500
AlH] 1,500
HAW BRQ NYXH 21,940 104,343 A82,403
= 17,552
AlH] 4,388
301 Lere A 21,940 104,343 82,403
= 7,552
AlH] 4,388
01 ALSI 2 &R 4513 21,940 104,343 182,403
OF-PSEE A=V 21,940,00084 21,940
= 17,552
AlH] 4,388
% - R0t B4 =4 37,948, 110 34,097,758 3,850,352
= 21,465,311
AlH] 14,129,931
| 2,352,868
OfRI0IT BAXH Q121 6,313,533 4,860,000 1,453,533
= 3,788,120
AlHI 1,767,789
| 757,624
307 812+0| A 6,313,533 4,860,000 1,453,533
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SN
X XH .
S Tt

ok

) _ HEc =
2N -3 - c2(3H) - NEME - HES Ol & oK '@E% Hns
=2 3,788,120
AlHI 1,767,789
2HI 757,624
10 AlSI=2XE X 6,313,533 4,860,000 1,453,533
OOIRIOIE EAK o124 X
6,313,533,000 6,313,533
2 3,788,120
AlHI 1,767,789
2H| 757,624
DD PHI 110,000 93,700 16,300
2 66,000
AlHI 30,800
2HI 13,200
307 212+0| & 110,000 93,700 16,300
2 66,000
AlHI 30,800
2H| 13,200
10 AlSI=2XEX 110,000 93,700 16,300
BI2HOIRI0I R DHHI X 110,000,0002 110,000
2 66,000
AlHI 30,800
2HI 13,200
X2 ol 2,400 2,400 0
2 1,440
Alt] 672
2H| 288
307 QI2+0| & 2,400 2,400 0
2 1,440
AlHI 672
2H| 288
10 AlEI=2XEX 2,400 2,400 0
O02I0IE M2l X 2,400,000 2,400
2 1,440
AlHI 672
2H| 288
do0ES2 XA 25,178,394 26,445,855 A 1,267,461
2 16,348,905
AlHI 7,629,489
2H| 1,200,000
301 YErE AR 25,178,394 26,445,855 A 1,267,461
2 16,348,905
AlHI 7,629,489
2HI 1,200,000
01 ALl B R =252 25,178,394 26,445,855 A 1,267,461
ogsoEsa X 25,178,394,000 25,178,394
2 16,348,905
AlHI 7,629,489
2H| 1,200,000
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A =XIARD
y: 25 9 HEN
Sol: g - R0 FAIIE X4 (ol @2
_ _ pSNE e
SN -EHH . (B) - MPAY - BE2 O &F 24 Sl aton HRE2
S MESEEEY= 205,000 285,000 80,000
Al 205,000
301 EtB a3z 205,000 285,000 A80,000
AlHI 205,000
01 A EEH =062 205,000 285,000 A80,000
OsMol= AHHdESE= K& 205,000,000& 205,000
AlHI 205,000
Aol AEESZ 71,800 0 71,800
AlHI 71,800
301 LPBAS 71,800 0 71,800
Al 71,800
01 ABIBFH 253 71,800 0 71,800
OAmolZ= JHEEE= 71,800,000& 71,800
AlHI 71,800
ghsNotEEE K& 2,637,900 0 2,637,900
AlHI 2,637,900
301 et el = 2,637,900 0 2,637,900
AlHI 2,637,900
01 Al EEH %=0dl=3 2,637,900 0 2,637,900
OoshtEEE K& 2,637,900,000& 2,637,900
AlHI 2,637,900
HIZOHOH H DS BSE X 122,589 0 122,589
AlHI 107,878
-4l 14,711
301 et a3 122,589 0 122,589
AlHI 107,878
-4l 14,711
01 MBI 2EE =512 122,589 0 122,589
OHlI oot gur: 52 K& 122,589,000& 122,589
AlHI 107,878
2t 14,711
0i2101F DI0IS0LS S 1,560,000 1,515,603 44,397
2 936,000
AlHI 436,800
24 187,200
301 Et2 a3z 1,560,000 1,515,603 44,397
= 936,000
AlHI 436,800
-4l 187,200
01 A3l 2EE =512 1,560,000 1,515,603 44,397
OOlRI0IE DI0IBOIE SN
1,560,000, 0002 1,560,000
2 936,000
AlHI 436,800
2t 187,200
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A =XIARD
y: 25 9 HEN
Sol: g - R0 FAIIE X4 (ol @2
SN -EHH . (B) - MPAY - BE2 O] Ak 4 e HRE2
ORI0IT It U 25 A 95,000 0 95,000
Al 95,000
307 2I2toI & 95,000 0 95,000
AlHI 95,000
10 AlRIS X2 95,000 0 95,000
OOlRIOIE BHES U 25 A
95,000,00024 95,000
Al 95,000
F2XNE Helold wMu+ K& 31,000 26,000 5,000
AlHI 31,000
307 21Ztol 31,000 26,000 5,000
AlHI 31,000
10 Al2ISXIE X 31,000 26,000 5,000
OF=X ORI0E DHRT X
31,000,000& 31,000
AlHI 31,000
g2Xd oeold MNEzd N 11,500 13,800 22,300
AlHI 11,500
307 21zZtol ™ 11,500 13,800 A2,300
AlHI 11,500
10 Al2ISXIE X 11,500 13,800 A2,300
OZ2X ORI Hg2Y X
11,500,000& 11,500
AlHI 11,500
g2k, JIE el olE SML SN2 A& 671,000 564,500 106,500
AlHI 671,000
307 QI2H0I & 671,000 564,500 106,500
ALt 671,000
B EES 671,000 564,500 106,500
0212, JIHORI0IE BAK SX4+ X
671,000,000& 671,000
AlHI 671,000
BOI WIS ORI0IE BAK &g 58,500 0 58,500
AlHI 58,500
307 2IZtol 58,500 0 58,500
AlHI 58,500
10 At =S X2 X 58,500 0 58,500
OOl THOIZ OfRI01E BRWA SR4Y
58,500, 00024 58,500
Al 58,500
%0t B8 TR0 29 28,800 10,800 18,000
AlHI 28,800
307 2I2toI ™ 28,800 10,800 18,000
AlHI 28,800
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A SXAH B
M 9] U IIFEX
CHelr - S0F SHIIE =4 (S e
_ _ PG ==
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
10 At S X2 X 28,800 10,800 18,000
Og0t2= 0el0ld d22s<0 29 N&
28,800,000& 28,800
AlHI 28,800
SaFAA XE He0lE X 180,000 108,000 72,000
AlHI 180,000
307 212+01 & 180,000 108,000 72,000
AlH] 180,000
10 At2IS A2 X 180,000 108,000 72,000
OR&Al XIE 0201y X& 180,000,000 180,000
Al 180,000
38 ogold X3 76,800 0 76,800
= 36,864
AlHI 26,112
Tl 13,824
307 2I2tol & 76,800 0 76,800
= 36,864
AlH] 26,112
Tl 13,824
10 AHBISXIE2x 76,800 0 76,800
O34 ogold X& 76,800,000 76,800
= 36,864
AlH] 26,112
-4l 13,824
WA 22&F e K& 454,969 0 454,969
= 272,982
AlH] 127,391
-4l 54,596
307 g12+0l ™ 454,969 0 454,969
= 272,982
AlHI 127,391
Tl 54,596
10 At2IS A2 X 454,969 0 454,969
OUA 2283 e XI& 454,969,000 454,969
= 272,982
AlHI 127,391
-Hl 54,596
o2lold JIsed 30,000 0 30,000
= 15,000
AlHI 7,500
Tl 7,500
402 212201 & 30,000 0 30,000
= 15,000
AlH] 7,500
Tl 7,500
01 2ItAI=E X 30,000 0 30,000
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S S AL D
Hu: 28 Y YN
Sell o - R0t KAJIB X4 (eel: &
_ _ _ N E
SNBSS - HRAY - BHES 0 & o4 o HIRZE2
OAFSHOIRI0IE JHE % 30,000,000 30,000
=2 15,000
AlHI 7,500
2| 7,500
RUINED BEHADL ABAILH XV 5,000 5,000 0
AlHI 5,000
307 8I12+0I ® 5,000 5,000 0
AlHI 5,000
NEENEES 5,000 5,000 0
OROINSY ESHADY ALALH X
5,000,0002! 5,000
AlHI 5,000
Oi2loly X 103,925 94,900 9,025
201 LBr2 | 2,500 1,500 1,000
01 AbR-2t2/HI 2,500 1,500 1,000
OAQNSE BA+Y S 2,500,000% 2,500
203 R E | 800 800 0
03 Al ER Q@ =T Y| 800 800 0
OESYe Y2 800,000 800
307 QI12+0| ® 79,250 73,325 5,925
NEENEES 79,250 73,325 5,925
OO{2I01T ei8ts] At XY 2,000,000% 2,000
OO0RI0IE artl X 73,650
£ 1009 Ol &t 525, 0009 2004 £ 10,500
- 50~99% 450, 00021 %3104 A 13,950
- 21~49% 375,0002 «647H 24,000
- 202 015t 300, 0009 %847 2 25,200
OYXOIE 0RI0IE ®II22 X
10,0002 * 122 1,200
OASHA S, CHEOIRI0IE SAless 53D
Zeltl N 100, 00021 %2JH A #1224 2,400
308 X+l £ HI S0 & 21,375 19,275 2,100
06 DEIIZOIHSEES 21,375 19,275 2,100
ORI el X& 21,375
- 1009 0l &t 525,0009! %250 2 13,125
- 50~99% 450, 0002 *107H 2 4,500
- 49% 015t 375,0009 %1074 £ 3,750
MASE Mgory X 7,744,785 6,541,847 1,202,938
2 6,594,762
AlHI 889,747
| 260,276
RHEALY 2 7,744,785 6,541,847 1,202,938
= 6,594,762
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SN
X XH .
S Tt

el

HASSE MEAF X

ALY =&

. _ o ME T =
M- E - S(3) - HRAY - BY2 o i HIRE

NE] 889,747
2| 260,276

22 5,013,802 4,225,495 788,307
=2 4,512,422
Al 350,966
2| 150,414

401 Al HI 2 S CHH] 5,013,802 0 5,013,802
=2 4,512,422
Al 350,966
2| 150,414

01 Al&H| 5,013,802 0 5,013,802
oxgaz 5,013,802,0002 5,013,802
= 4,512,422
AlHI 350,966
2| 150,414

gAas2H 494,860 302,739 192, 121
= 445,374
Al 34,640
2| 14,846

301 LErE AR 494,860 302,739 192, 121
= 445,374
Al 34,640
2| 14,846

IEEEERS 494,860 302,739 192, 121
ORNEBASTR(NEEAZ) 494,860,000 494,860
=2 445,374
Al 34,640
2| 14,846

X REHE 2 403,480 380,960 22,520
= 282,016
Al 120,864
2| 600

203 R EXY| 600 600 0

03 AR L | 600 600 0
ONAXSHE AR=Z 300,0002! +23] 600

307 ©12+0| & 402,880 380,360 22,520
= 282,016
Al 120,864

EEEES 402,880 380,360 22,520
OXNLAXZHE 29 X2 402,880,000 402,880
=2 282,016
Al 120,864

NP (BS= 24,480 24,480 0
AlHI 24,480

307 ©12+0| & 24,480 24,480 0
Al 24,480

_30_




SN
X XH .
S Tt

el

I1—L:6 o=
NEAY =8

ASE MEBOIE K|

_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK '@,‘;OH Hlw &2
10 AlBI =X 2 X 24,480 24,480 0
OXNSAXSHE HASK 4G 24,480,000 24,480
AlHI 24,480
MIESEZ2 O A 3,744 3,313 431
= 2,996
AlHI 374
-l 374
301 YerE A3 3,744 3,313 431
2 2,99
AlHI 374
24| 374
01 ARl 2B X252 3,744 3,313 431
OAMBlEg D208 Al 3,744,000 3,744
2 2,9%
AlHI 374
2HI 374
IIARZPE S 2 M A AFYS 133,688 133,688 0
2 93,582
AlHI 20,053
24| 20,053
307 212+0I & 133,688 133,688 0
2 93,582
AlHI 20,053
2HI 20,053
05 RI2+2IES 133,688 133,688 0
OJIAFZPE S 2 MHIA ALY X9 133,688,0002 133,688
2 93,582
AlHI 20,053
2H| 20,053
FHESS0 FAHA=IALY 70,000 70,000 0
= 63,000
AlHI 4,900
2H 2,100
307 212+0I & 70,000 70,000 0
2 63,000
AlHI 4,900
2HI 2,100
10 A2l =X 2 X 70,000 70,000 0
OFAHEESZ0 FHEX ALY 70,000,0002 70,000
2 63,000
AlHI 4,900
24 2,100
YNBSS MY 397,408 162,325 235,083
2 352,700
AlH 44,708
301 YerE A3 397,408 162,325 235,083
2 352,700
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ASE MEBOIE K|

DALY =

_ = dEE =
N EH - S2A(3H) - MRAE - BES &hoh Ol AF o8 BlusZ
AlHI 44,708
01 M2 X =62 397,408 162,325 235,083
OslYII=sE A 397,408,000 397,408
= 352,700
AlHI 44,708
KA M ASE XA H) 801,695 817,692 15,997
= 561,186
AlHI 168,620
Tl 71,889
307 2I2tol & 801,695 295,658 506,037
= 561,186
AlHI 168,620
T4l 71,889
05 BIZ2tR &= 322,437 0 322,437
OZILd b= 322,437,000 322,437
= 225,706
AlHI 96,731
10 At S X2 & 479,258 295,658 183,600
OJIZNLE HIRX 479,258,000& 479,258
= 335,480
AlHI 71,889
Tl 71,889
X ALS MHIA S XFARY (X H) 400,473 420,000 N19,527
= 280,331
AlHI 120,142
307 212+01 o 400,473 420,000 19,527
= 280,331
AlHI 120, 142
05 BIZ2tR &= 400,473 420,000 A19,527
OXYGASMEIAERAMS (AL EHSE HIRH)
400,473,000& 400,473
= 280,331
AlHI 120,142
MM AEXAIY 2 1,155 1,155 0
= 1,155
201 L2 1,155 1,155 0
= 1,155
01 AR 2telH] 1,155 1,155 0
OX < A2l MHI A 1,155,000& 1,155
= 1,155
HY 2L ZHI(SXAISE ) 23,496 24,222 AT26
QI 2E | 504 0 504
el 23| 504 0 504
101 el A Hl 504 0 504
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